
R1

330

R2

330

R8
47

R9
47

BC546B
Q10

BC546B
Q11

R11
3k

V2 60

V3 60

R21
165

R24

47k

R25
1k

R5
150

R27
8k2

R35

33k

BC547B
Q9

R12

3k

R13
33k

R26
20k

R22

7k5
R23
240

D1
BZX84C6V2L

3k
R36

R6
30

R10
30

D3
1N4148

D4
1N4148

D2
BZX84C12L

D5
BZX84C12L

R15
{stopup}

R7
{Quiescent} R17

{stopdn}

R18

{stopup}

R19
{stopdn}

Q8
ZTX658

Q2
ZTX758

R29
10

R30
165

R14
10

R16
10

R31
10

R32 33

R33 33

C1
220µ

C2
220µ

C9
220n

C10
220n

C13
220n

J1
2N5565

J2
2N5565

R28
51k

C17
15p

C7
100p

BC547B
Q7

C3

220n

1

2

3c
w

U1
Rtot=50 wiper=.5

R3

.1

R4

.1

R37

.1

R38

.1

C4

100n

AC 1

Rser=100 Cpar=100p

V4

SINE(0 .707 {freq})

Q1
ZTX658

Q5
ZTX758

C5

220µ

C8

220µ

C11

220µ

C12

220µ

R39
165

R40
165

Q3
ZTX758

Q4
ZTX658

Q6
ZTX758

Q12
ZTX658

R20

3k3

R34

47

C6

100n

Vin

.param stopup=300

.param stopdn=150

.param Quiescent=390

G1

D1

S1

G2

D2

S2

MPSW92
BF470/472
MJE350G

MPSW42
BF469/471
MJE340G

MPSW92
BF470/472
MJE350G

MPSW92
BF470/472
MJE350G

MPSW42
BF469/471
MJE340G

MPSW42
BF469/471
MJE340G

The Zobel network has been changed and the R20 temporarily added for prevention
 purposes only in the event that the amplifier is not happy with no load on its output.

The way the resistors are connected and the values shown are at the limit of max. dissipations of originaly used 2N5401/2N5551.
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